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The given table shows the number of students in different schools. The total
number of students 1n all schools dre 24,000.
&1 71 drfetent faf=T Thall § ST oh! ST ST &l Tl Thall § ST ohi el S

24.0008
SCHOOL PERCENTAGE |NO. OF GIRLS

OF STUDENTS
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Question 1- Find the number of boys in C.

T 1- C H ISR shl HEIAT JTd RIS

ot ) = Q4000
SCHOOL PERCENTAG | NO. OF
E OF GIRLS
(//3( 72750 STUDENTS
B. 1150
C. 2050
D. 2150

E. None of these
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@B%;/m C= Ikl im (= Guntiom C
Z-QngQMma-3?§o

S

= 6000- 374,
= 2250

—_—
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Question 2- The number of boys in D 1s what percent of number of girls 1n

B. Toh =400 0

T 2- D H AShi ohl TEAT, B H ASIRIAT shl TEAT A Toha T Tfderd 87

SCHOOL PERCENTAG | NO. OF
E OF GIRLS
A 15% STUDENTS
CB—55%
C. 30%
D. 35%

E. None of these
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@ B% D:/O/,gfo?imoo -F50

= QY05 - 40
= 650

Curls B= Fooo
/< ks
B\bO%X(W
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Question 3- Find the ratio between the number of boys and girls in E and A

to the total students 1n all schools.
T4 3- E 3 A W ASeh! 3R TS oral ohi 4T N Gt Thell § el B ohl
G o SI<l STUT 1d shifSy

@\D\ODD SCHOOL PERCENTAG | NO. OF
E OF GIRLS
A. 11:80 STUDENTS
(B 17:80
C. 178
D. 23:80

E. None of these
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(D B% €= 3oxg&)ieooo— L Qoo

B% E = %000 |
Guls E=2op ]5/00

7571%( &44(6717[ = CQ‘L{OOQ

%#05,57@0/ ' QL{@T;QS
= 16

_\

—_—

https://t.me/mathbytarunsirmepl



SBICLERK 20230

Question 4- If 60% of the students i@aﬂicip@\ quiz in which ratio of
boys and girls 1s 7:5 then find number of girls who participated in quiz.

T 4- A< B H 60% B TSt § AT foTam {STeH STgeht ST TS iohal o 3TUTd

7: 52, O TG H 91T o STt AS iRl shl AT ATd ST/
SCHOOL |PERCENTA |NO. OF

GE OF GIRLS
A. 1000 STUDENTS
B 1200
C. 1100
D. 2000

E. None of these
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(D) Shudorct o2 B= Qo7 dQko0 0

= Ui§oo | = hoxsg
&U{Z = Goy_ﬁg@oo = IRoo
— 880 I
5. 6(T5)s 9= 2000
= 24

https://t.me/mathbytarunsirmepl
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Question 5- If each boy in E donated Rs 150. Then find total donation done by

boys in E.
I 5- If E U Tcdeh Ageh @ T3 hT €4 {3 81 al E | o<l g7 fohat T/
KB RIGEIIS I
SCHOOL |PERCENTA |NO.OF
GE OF GIRLS
A. Rs 35,000 STUDENTS
B. Rs 45,000
C. Rs 55,000
D. Rs 65,000

__E_None of these
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@ ot bralion = 5000 K[54 0
- Héooo_o/;%
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Question 6- What will come 1n place of question mark in the given

series.
95 6- &Y 713 @t W 9 g ok €& 9T S

5
, 324, 108, 36, ?,
\\_/

Xy X3 X3
HXJ\;D —AL 12
— B. 8
C. 3
D. 2

E. None of these
https://t.me/mathbytarunsirmepl



 SBICLERK 20230

Question 7- What will come 1n place of question mark in the given
series.

95 7- Y 713 @t § 9 g o €& 9 T S
44,22,22, 33 66,7

W
K09 X w5
A. 95
66)(5?5:_[6_3_ B. 65
I C. 115
_B. 165
E. None of these

https://t.me/mathbytarunsirmepl
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Question 8- What will come 1n place of question mark in the given

Series.
957 8- &Y 713 @t W U g o €& 9T S
11, 15,23,39,71,7?

N

th 18 +(6 139
T+64= (35 A. 125
— BT 135
C. 115
D. 95

E. None of these
https://t.me/mathbytarunsirmepl



| SBICLERK 20230

Question 9- What will come 1n place of question mark in the given

series.
957 9- &Y 713 @t W U g o €& 9T S

| X
Jorxg 1° X3 x84 X6

‘-_,H 36@ A. 23360
5 B. 33360
\
C. 43360
D. 53360
L E—None of these

https://t.me/mathbytarunsirmepl
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Question 10- What will come 1n place of question mark in the

given series.
57 10- 31 715 Sl H 9% <18 o T W AT ST

100, 117, 132, 149, 164, ?

I T +[1 TS +H1

A. 121
‘GHH%:ﬁf B. 161
— C. 171

P 181

E. None of these
https://t.me/mathbytarunsirmepl
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Question 11- A 600 liter of mixture contains 60% milk and rest water. When
48 liter of milk and 80 liter of water added then find ratio of milk and water.
T4 11- Teh 600 AT 02007 o 60% T ST 2T ITHT 81 SfeT 48 i g4 31T 80 i
ot FEreATaT STt @ T g ST qTt sh1 AT e shifera

A. 31:40

B7 51:40
C. 21:40

D. 11:50
E. None of these

https://t.me/mathbytarunsirmepl
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(D M= 6ol geéoo | M. w= Hof | FRO
M= 360 = lox: 8o
Oatern = 6a0—36¢ =5/ Ls
Lo = 6
" w @60+J1&).‘ (Q%+@9
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Question 12- P, Q and R together can do a piece of work in 8 days. While P

and Q can do the same work 1n 9.6 days and Q and R can do the same work in

8 days. In how much time Q alone can do the same work.
9% 12- P, Q 31 R U U1 Ueh &1 ol § Torli T vt Gehd &) STelfeh P 37T Q 3t
T Rl 9.6 TeAT H T Hehd & 3T Q R R 3HT & T 8 feqi s wahd 21 Q

3ehct 3HT T i Tohc THT H O T Hehell 82

A. 12 days
B. 14 days
C. 16 days
D. 24 days
E. None of these

https://t.me/mathbytarunsirmepl
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Question 13- The are of a square 1s 784 cm square. If the diameter of circle 1s

equal to the side of square then find area of circle.
T 13- Teh 11 o &bl 784 G ol 81 Fid I 3T SATE a1 oh {1l o SIel &, a1
I T &ABS J1T hiTer|

Q A. 416 cm square
w _B—616 cm square

C. 446 cm square

D. 414 cm square
E. None of these

https://t.me/mathbytarunsirmepl
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D (gk)= 7% | wua of conte= 7™
Bide = 38 - i:; e
Kl = ety = 616 0m-

https://t.me/mathbytarunsirmepl
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Question 14- Find the difference between the simple interest and compound

interest on a sum of Rs 12,000 when rate of interest is 40% pe annum for 2
years.

T 14- 12,000 T AT TIRT X ATIRIT AT 3T Ashe (g, SATST o s Rl S 4
SIS ST SATST shl 2T 2 98T oF f7T 409 gfaq a9 21

A. Rs 1120

_B—Rs 1920
C. Rs 1820

D. Rs 2020
E. None of these

https://t.me/mathbytarunsirmepl
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ST-¢ = 8o
OST Y=y
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The given bar graph shows the total number of boys and girls blue label in

different days and the orange label represents the total number of boys in same
days.

T 71T ST T SAAT-SAHT fedT | et TeTet aTet <gehl 3R AT shl e
EAT 2! ST & HI AR ioret GHT T H TSI hl et ST ohi ST 2
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A.

Mo 0w,

400 Question 15- Find the number of female in Wednesday.

SOO/ T 15- ST h! ATl hl &1 JTd hitsTg]

600
700

None of these ™ U%{’(’D 3400

3500

3000

2500

2000

1500

1000

500
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Question 16- The number of girls in Monday and Friday 1s

what percent more/less than the number of boys in Thursday.
T 16- HIHAT 3R IR hl AR shi ST, T shl TTShI

hT HEAT § Tohd T=Td ST14h/HH &7

4000

o

A. 20.5% \po

B. 28.5% é}c;co
C. 12% .
D. 25%
_JF—None of these 500

0

Monday Tuesday Wednesday Thursday Friday
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(D) Guioth Py - kg = oo +- f60 ©

= K060
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Question 17- Find the ratio between the total number of boys and girls in

Tuesday and Wednesday respectively.

T 17- HITTER ST ST h SHHST: el AAgehl S TSRl shl HEAT % it

AR

4000

3400

3500

A. 1:7 3000
B. 1:9 2500
C. 13

1500

D. 1:5
E. None of these

1000

500

0

Monday Tuesday Wednesday Thursday Friday
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Question 18- Find the average number of boys 1n all days.

T 18- Tt {1 | Akt <hl 3THd ST 19 shifsiu)

4000

RZ

3500

A 1520 3000
B. 1120 2500

C. 1420 2000
D. 1320
E. None of these

1000

500

Monday Tuesday Wednesday Thursday Friday
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0 /w\c«%g,a S ifjﬁ

= 990

———

.
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Question 19- In an election two candidates participated in which 10% voters
did not cast there votes. The winner gets 70% of th@nd he wins by

1200 votes. Find the total number of votes.
T 19- Ueh TG H I TR F 91T Tt 88 10% AderarsTt 4 9ie Tt S|

ToISTelT 3R St AT T 70% AT 8 3R =8 1200 12T | ST &1 A1eH hl el HEl
SRS

A. 3200
—B- 2400
C. 3400
D. 4400
E. None of these
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(D Lt ot VOM%({OO  Go= [Q00
019 o ey
d R N “e
. %%0
Q0
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Question 20- A bag contains 4 red, 3 green and 5 yellow balls. Three balls are

drawn at random. Find the probability that they all are of different color.
T 20- Teh ST T 4 AT, 3 Bl ST 5 diett 71s &1 i el ol Ao &9 ¥ Wil

STTAT 21 39 ST <hl ITRIShdT JTd shITSTT foh of THT STT-3TT T F 2

\J\OW WK _ A. 2/11

B. 1/11
C. 3/11
D. 4/11
E

. None of these
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In how many ways letter of word PERMUTATION be arranged.
PERMUTATION 3Ts€ & 378 okl fohd< Yo © ST Rud foram ST gehdT 22

https://t.me/mathbytarunsirmepl
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